RH#ATAN XFHX EHGHE (z+a)(z+b) 03

1. ROAXZRBOHEEE. (SHK50F, A1 15%, Bfk14950%, C#k24930%)

(1) 22 —3x+2 (2) x? — 9z + 18
(3) 22—-42-5 (4)  2?2+22-15
(5) 22— 11z + 10 (6) 22 —x—42

) z2 — 7z —30 (8) 22+ 13z — 14
(9) 2% — 132+ 36 (10) 2% — 6y — 721>
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2. RXOXENESETX. (SHs55F, Afk15720%, B#k245, C#H24 508 )

(1) 2?2 —4x+3 (2) 2 — 8z +12

(3) 22-5x-6 (4) 2> +6x—16

(5) 2?2 — 122 + 11 (6) 2?2 —x —56

(7) 2% — 62 — 40 (8) 2% + 92 — 22

(9) 22 —20x+ 36 (10) 2% —2lay — 72y
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RETAN XFIX EHIEH

1.

(@ +a) (e +

b) 03

ROXZ KB L. (S50, A1 158, BHF15508, C#2530% )

* 22 4+ (a + b)z + ab = (z + a)(z + b)

®
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(1)

(3)

(5)

(7)

9)

il "

T IZOWVTO EBIEDRBICEB LT, Z0OHNHEEZ 3.
QDR DIDH B, MMz DHEDFEEZE L 23 DEEOT 5.

2 —3x+2

=(x—1)(xz —2)

22 —4x—5

=(x+1)(x —5)

z2 — 11z + 10

= (x —1)(x — 10)

22 — T —30

= (z + 3)(xz — 10)

z? — 13z + 36

— (2 - 4)(z - 9)

(2)

(4)

(6)

(8)

(10)

© $2f - HE R L0

z? — 9z + 18

= (x — 3)(x — 6)

22 +2x—15

=(z+5)(z - 3)

x2—x—42

=(x+6)(x—"7)

22+ 132z — 14

= (x+14)(z — 1)

% — 6y — 721>

= (z + 6y)(z — 12y)

Wy BRI,

( http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

(1)

(3)

(5)

(7)

9)

ROAXZRE AT L. (S5, Afk1520%, B2, C# 27350 )

2 —4x+3

=(x —1)(x — 3)

22 —5x—6

— (@ +1)(x - 6)

2 — 122+ 11

=(x —1)(x —11)

z? — 6x — 40

= (x4 4)(xz — 10)

x? — 20z + 36

= (z — 2)(xz — 18)

(2)  22-8x+12

=(x —2)(x — 6)

(4)  22+62—16

=(x+ 8)(x —2)

6) a2—2-56

=(x+7)(x—8)

(8) z2 4+ 9z — 22

=(x+11)(x — 2)

(10) x? — 21lay — 72y

= (z + 3y) (v — 24y)
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